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Describe how the graphs of f(x) and g(x) are related. Then find the amplitude of g(x), and sketch two periods of both functions on the same coordinate axes.
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Describe how the graphs of f(x) and g(x) are related. Then find the amplitude of g(x), and sketch two periods of both functions on the same coordinate axes.
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Describe how the graphs of f (x) and g (x) are related. Then find the period of g (x), and sketch at least one period of each function on the same coordinate axes
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MUSIC Musical notes are classified by frequency. In the equal tempered scale, middle C

has a frequency of 262 hertz. Use this information and the information at the left to write an
equation for a sine function that can be used to model the initial behavior of the sound wave
associated with middle C having an amplitude of 0.2,

\0\]: o'z‘” a::o,‘y_
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7L ) »A) o) 262
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0.1 A Al 52 13 C gz liey Adat jal) A5 guaal) A gal) (1

MUSIC In the same scale, the C above middle C has a frequency of 524 hertz. Write an equation Io] = ot => 0=\7To0"
for a sine function that can be used to model the initial behavior of the sound wave associated
with this C having an amplitude of 0.1.
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State the amplitude, period, frequency, and phase shift of each function. Then graph two periods of the function.

y = 3 sin (2,\' — -g)
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State the amplitude, period, frequency, phase shift, and vertical shift of each function. Then graph two periods of the function.
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